'PHYS 102:General Physiesi KOC UNIVERSITY Spring Semester 2016
College of Sciences

Section 1 e Quiz 3 26 February 2016

Closed book. No calcula?tﬁ'rs are to be used for this quiz.
Quiz duration: 10 minutes '

Name Student ID ‘ ~ Signature:
A prOJectlle is- launched from the origin w1th_ - o E '
initial speed v, on an inclined surface. The
launch angle with the. horlzontal is a:o = :- The

inclination angle of the surface 1s B = Z

Determine the dlstance of the landmg pomt from_ P
~the launch  point: in terms of the given . -
parameters. The grav1tat10na] acceleratlon is g

(Smbe_ﬁ_? cos—’I:"‘;i Sln-::cos-—':-—)
e he S*m*m’:‘;&“ of the | XS. = ’V Cos oe _.- Wz -1
PFOJe.c:" e be the ol‘igin and Diadl pos\)dr.m
O? "\'\I\L- Pu‘OJtC"l‘“ lﬂe (}(g'qjs)_ : X ({3' r)
l*)= Vs C0S0<.+ ok ;"t\l} ==Rg = - J

g% stn ot - *ii‘ g%

g ng \IK,;*HE _xgV2

:“’ Kan (% 9)% - b 0 T

] : s AR

=—+0ﬂe=f“'l(0ﬂf—q=“i.r sl S .3 2
A g

: 'Vsinm*'—

el
9, cos wzt :

Y, sin %ot - 5 7 ‘3"‘1"? ."'V cos ot

Vo (sin wo+ cos bt‘,)"-. 'i g-\'

+ = 29, ( <A %o+ CoS uq)

e (”i gzmﬁ;n* e |
Q, 9 , : : -




PHYS 102:General Physig_si KOC UNIVERSITY Spring Semester 2016
' o College of Sciences '

Section 2 | _Qm_z 3 | 26 February 2016

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Student 1D: : Signature:

Consider the uniform circular motion shown in the figure, where an object is rotating along
the circular track with a constant angular frequency w = 2 7 /T. Here T is the period of the
motion. Using the x-y coordinate system indicated in the figure, find the position and
acceleration of the object as a function of time £, assuming the object passes (x =0,y = 0)

poirit at time ¢ = 0s.
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Consider the motion shown in the figure, where a ball starts moving at time t = 0 with
speed v,and making an angle of 7/4 radians with the horizontal axis. If the horizontal and

vertical accelerations of the ball are given by a,= A and a,= - B, respectively, find the
maximum displacgments in the vertical and horizontal directions. Here A and B are positive
constants. You may ignore the effects of gravity.
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